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14.3.3 Ek2

BN RBEMNFL H—10(log n) M FIE

FAVR BT A 0 O (V) B B NO (V).

FATTAL BE H AE B FTiAN 2R ) R BN 58, Ja i 2R L P 1 78, LRI 28 A0 5 4%
IR ERE R, P ERE RO (V/nlogn) I AIX T R I 20(nlogn).

[ B AT P P AL B S50 R B B8 G L T 5%, Ry B 58, PN B IR X TR A 25 22

SR B S R S5 R AT DU BB B 5 — 14 RAEO (log n) HIINF[R] A 15 HY

43X B RO (/n? log n) = O(nlogn).

2 8 ) [1, ), SR B AN R AE TP B I A B A T =R R 5 LA A, R
22 LB YR ) LANC.

AR AT RE AR W HB (DAL ER), AB 2 [8], AC 2 [8], BC 2 [8], 43 ) i+ BRI AT

WS B AE BEP ) A FRA D0 A s U s DA Bk

RSN T RDn ), 75 E I AL F (n)

MAF(n) =/nF(y/n) + nlogn.

AW F(n) = knlogn.

i 73
F(n) = v/nky/nlog+/n+nlogn
log /7 = logn

k
knlogn = §nlogn +nlogn
k=2
WL R UL F (n) = O(nlogn).
MEZREO(nlogn) + O(logn).

2 IRB KNI AR HEH NI (Lm0 3-16) AN 75 2200 B, 2 5 BRI, B2 0% 2 D9 5 B AN RE
M AR AL
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15 Bkt

FEIRE b3t S W] 455 AAHE G50 HAEW CHF R L F SR 2 HE A PO i 0 5 o .
& SR BT U AR P AT RE A 2 BORS i ke X 1) B 555 &K Tl PR 38 32 28 (R R ).
PRECTHE XA 1] AR 2 [ 2.
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